Political Economy and Social Movements, Fall, 2006

 Economics Problem Set #2.—Due Friday, October 27, 2006
Please type up your answers. Staple all pages together. Give succinct but substantive answers. 
 Answer all 
1) Briefly discuss the concept of class and class relations as developed in Bowles, Edwards and Roosevelt, Chapters 6 and 7. Why do they argue the key class relationship in a capitalist economy is the one between the working class and capitalist class. Why has the “old middle class” declined and the “new middle class grown”. How does their class analysis differ from the more common sociological ones that primarily focus on education, status, and income; e.g. upper middle, lower middle, etc.  Which of these two class analyses do you think is more useful? Why?

2. Explain in a few sentences, four of the following five concepts and discuss their usefulness, importance  or lack thereof.

      A. Accumulation of Capital
      B. Productivity
      C. Segmented Labor Markets

      D. Mode of Production

       E. Recuperated Businesses
3. Explain why  Wal-Mart’s business model, see article, 4.1 in Real World Micro; and also the growth of  unregulated work, article 4.3 in Real World Micro, are more compatible with the current Social Structure of Accumulation (SSA) than the previous SSA. Explain. 
4. In Marxism, the source of surplus value and profits are the exploitation of labor, they come from the sphere of production. More common explanations, e.g., populist, focus on firms being able to get away with charging high prices, e.g., Exxon, the oil companies are gouging us. Explain Marx’s concepts of labor and labor power and exploitation and why he claims this is the source of surplus value and profits? How does this explanation  differ from the idea of corporate profits coming from setting prices? What is your assessment of these two different explanations?
5. In Marxism, “a reserve army of  labor” is the normal state of affairs in a capitalist economy. Explain why it is the normal state of affairs, and the relation between the reserve army of labor, the level of real wages, and profits. Hint: use the concept of bargaining power. 
Extra credit: How did Selma James use this theory to argue that wages for housework would increase overall  wages and reduce surplus value? 

